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Unititest vs. Integrationitest







Tests: |

assert(result(20,0), is_equal_to(0)); B

Code;

public 1nt result(int times, 1nt pins) {

¥




Tests: |

assert(result(20,0), is_equal_to(0)); B

Code;

public 1nt result(int times, 1nt pins) {
return 0;

¥




Tests: |

assert(result(20,0), is_equal_to(0)); I

assert(result(20,1), 1s_equal_to(20));

Code;

public 1nt result(int times, 1nt pins) {
return 0;

¥




Tests: |

assert(result(20,0), 1s_equal_to(0));
assert(result(20,1), 1s_equal_to(20));

Code;

public 1nt result(int times, 1nt pins) {
return times;

¥




Tests: |

assert(result(20,0), 1s_equal_to(0));
assert(result(20,1), 1s_equal_to(20));

Code;

public 1nt result(int times, 1nt pins) {

return times * pins;




Tests: |

assert(result(20,0), 1s_equal_to(0));
assert(result(20,1), 1s_equal_to(20));

Code;

public int result(int.times, int pins) {
return times * pins| ‘




Cost of Change

Requirements defect
found via traditional

acceptance testing

N
N
N
N

Programming defect found via
Pair Programming

Programming defect found via Design defect
Continuous Integration found via traditional

f system testing

y Des Ay jrcvanr amgce et our i
| via Test Oriven Development (TDD)

Requirements or design defect found via

Active Stakeholder Participation
Progamming defect

, ! found via traditional
Requirements or design defect ~ system testing

found via Model Storming

Defect found via a

review or inspection
= 3

Defect found via independent
parallel testing

Length of Feedback Cycle Copyright 2006-2009 Scott W. Ambler




toate el .2 w

AN -

P e
"7 E e
S 4‘.‘_-:'&4!:'{ e

Responsive

evelopment Technologies



Automatisk betalning

e Bil triggar hantering

e Hamta foto

e Registreringsnu
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TDD: Skriv ett test

* Enklaste exemplet?

* Triggas men inget foto!
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TDD: Skriv ett test

scenario no photo: /

expect(photo.get()).return(NONE)

trigger()
validate(msg.show("press"))

PDNOTO Hmw"

msg




TDD: Skriv ett test
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TDD: Skriv ett test

scenario no photo:
expect(photo.get()).return(NONE)

trigger()
validate(msg.show("press"))

trigger():
photo.get()
msg.show('press") pNOtOo

msg




TDD: Skriv ett test

scenario Nno photo:
expect(photo.get()).return(NONE)

trigger()

| : : trigger():
validate(msg.show("press")) ohoto.get()

msg.show('press") pNoto




1DD: nasta test

scenario Nno photo:
expect(photo.get()).return(NONE)

trigger()

validate(msg.show('press")) tri)ghgoetg(.)g:;et 0
scenario no reg: msg.show('press’)

expect(photo.get()).return(PIC)
expect(reg.identify(PIC)).return(NONE)

trigger()
validate(msg.show("press"))




1DD: nasta test

scenario no photo:

expect(photo.get()).return(NONE) photo
trigger() - .
validate(msg.show('press")) trgghgoetg(.)get 0

scenario no reg: msg.show("press’)

expect(photo.get()).return(PIC)
expect(reg.identify(PIC)).return(NONE)

trigger()
validate(msg.show("press"))




1DD: nasta test

scenario Nno photo:

expect(photo.get()).return(NONE) photo
trigger() - .
validate(msg.show('press")) trL)ghgoetg(.)get 0

scenario no reg: msg.show('press’)

expect(photo.get()).return(PIC)
expect(reg.identify(PIC)).return(NONE)

trigger()
validate(msg.show("press"))




1DD: nasta test

scenario Nno photo:

expect(photo.get()).return(NONE) photo
trigger() - .
validate(msg.show('press")) trgggeg(gbto.get()

scenario no reg: If (0 '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show('press’)

trigger()
validate(msg.show("press"))




1DD: nasta test

scenario no photo:

expect(photo.get()).return(NONE) pPNOtO
trigger() - .
validate(msg.show('press")) trgggeg(gbto.get()

scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show('press’)

trigger()
validate(msg.show("press"))




1DD: nasta test

scenario Nno photo:

expect(photo.get()).return(NONE) photo
trigger() ——
validate(msg.show('press")) b = photo.get()

scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show("press’)

trigger()
validate(msg.show("press"))




1DD: nasta test, 1gen...

scenario Nno photo:

expect(photo.get()).return(NONE) photo
trigger() ——
validate(msg.show('press")) b = photo.get()

scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show("press’)

trigger()
validate(msg.show("press"))

scenario no account:

expect(account.lookup(REG)).return(NONE)




1DD: nasta test, 1gen...

scenario Nno photo:

expect(photo.get()).return(NONE) photo
trigger() | .
validate(msg.show('press")) trgggeg(gbto.get()

scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show('press’)

trigger()
validate(msg.show("press"))

scenario no account:

expect(account.lookup(REG)).return(NONE) msg




1DD: nasta test, igen...

scenario no photo:
expect(photo.get()).return(NONE)

trigger() ——
validate(msg.show('press")) b = photo.get()

scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) reg.identify(p)
expect(reg.identify(PIC)).return(NONE) msg.show("press’)
trigger()

validate(msg.show("press"))

scenario no account:

expect(account.lookup(REG)).return(NONE)

141519)




1DD: nasta test, igen...
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1DD: nasta test, igen...

scenario no photo:
expect(photo.get()).return(NONE)

trigger() |
validate(msg.show("press")) trigger()
o = photo.get()

scenario no reg: if (o '= NONE)

expect(photo.get()).return(PIC) r = reg.identify(p)

expect(reg.identify(PIC)).return(NONE) if (r '= NONE)

trigger() account.lookup(r)

validate(msg.show("press")) msg.show('press’)

scenario no account:

expect(account.lookup(REG)).return(NONE)

141519




1DD: nasta test, igen...

scenario Nno photo:
expect(photo.get()).return(NONE)

trigger() ——
validate(msg.show('press")) b = photo.get()
scenario no reg: if (o '= NONE)
expect(photo.get()).return(PIC) r = reg.identify(p)
expect(reg.identify(PIC)).return(NONE) if (r '= NONE)
trigger() account.lookup(r)
validate(msg.show("press")) msg.show("press’)

scenario no account:

expect(account.lookup(REG)).return(NONE)

PNOtO

msg
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Demo!

trigger():

p = photo.get()
if (p !'= NONE)

by = r = reg.identify(p)
B e f (r 1= NONE)
\ account.lookup(r)
msqg.show( press
} » g. ('p )
L7
Ry |
!
/




Design?

o

...).return(...)

L

...).return(...)

i

) return( )
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Utifran och in!
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